8 7 6 5 v 4 3 7 1

REVISIONS APPROVALS
0.28 (7.14mm) DIA. -
REMOTE ON/OFF 1 HOLE PER BUS BAR 11.25 4.25
ENABLE SWITCH [ 285.7mm ] [ 108.0mm ]
. . “ u u
ST @}nig% ® ® ®
] 4 POSITION OUTPUT | - E=PUEES
V OUT ADJ. © SVeu O - TERMINAL BLOCK | \Q EaQ@@@@@@@ 2009 IeN
000, _ i 1 : 2158605002
oV ADy. oew el loe Hoomy g @2OT0 SR OO LY
e 1 pesels MO LR
NDICATOR | & D LIS 00000000 =5
LIGHTS \@@ . AAYAY, M 4.75 @j@(bq@(j@OOOOOOOOOOO@@O%O@
: Wil e | (20mm] $£5006000 1"
I P el PR ’ G X
o P38l 282 [{ DOOC NG iee 900
o %@ﬁﬁﬁg% 1 ey S ASNES
2 POSITION AC INPUT o o8 o
TERMINAL BLOCK /. 7% St wi pPINIQP SSSAERT)
SCREW SIZE #6-32 © @ E
#6-32 SCREW FOR/k © 12PN B - -
LINE CORD CLAMP FRONT VIEW SIGNAL CONNECTOR 10.25 REAR VIEW
OPTION BOARD [ 260.3mm ]
#6-32 GROUND
STANDOFF 15 PIN "D"
CONNECTOR RECEPTACLE SIDE VIEW
VAR
[
o /T m J
® M4 THREADED INSERTS
25" MAXIMUM SCREW PENETRATION
(4 PLACES)
@ B h W
©
<]
0|
[?'65591mm ] !
AIRFLOW © I
(SEE NOTE 1) NOTES: . b
1. CUSTOMER MUST PROVIDE ADEQUATE CLEARANCE (50MM MIN.) |
AT FRONT, SIDES, AND TOP SURFACES FOR AIR FLOW.
2. CUSTOMER MOUNTING SCREWS (M4x0.7) MUST NOT
PROTRUDE INTO POWER SUPPLY BY MORE THAN 1/4" [6MM].
3. SEE INSTRUCTION MANUAL FOR ADDITIONAL INFORMATION.
‘ 4. DIMENSIONS ARE IN INCHES, EXCEPT DIMENSIONS IN [ ] ARE IN MM. DIMENSIONS ARE 1N INHES (MM J
(> - - - - Y :g/kE?fc\)NN%ES A[?IIEE(:ZIMALS ANGLES DATE TD I<. Lamb da
@ " g((x t DRAWN \ siu 03/18/05
_ MATERIAL A APPROVALS OUTLINE DRAWING,
. .625 ENGR <. McDermot 03/18/05
625 U 300 [ 159mm ] FINISH ENCR T. Doudousakis 03/18/05 Lzsa500
[ 15.9mm ] L [ 76.2mm ] N/A i SIZE DWG. NO. REV.
SAFETY | bINOSO 9/29/05 D LZSa500-OUTLINE B
BOTTOM VIEW DO NOT SCALE DRAWING QA S. ZMINA 9/30/05 SCALE LAMBDA CONFIDENTIAL SHEET

8 7 6 5 f 4 3 2 1




